A
T

6 FERBEM (C12m) ZRMEGETE

RUES
BHRES
BB - 8- BE

18-16-24-031
N AEER
RIEEL - ZEERE

% R&BE
EE@H O0m
FERS
FHIEE BILEXE
FEHEBE BEEBIREE
BEn#s IFE




BHHEENRE AHGERE RIEBMBEC12m)B M TS

& b 1 - ikt Bif % =2 B f ® & =

EEISE 42,127,509
A& (-12m) 42,127,509
BET 7,527, 550
G578 %T 4,610, 448
5508 4,610, 448
-1 757850 [FET#X]) 8 TEONET0RE /KR 15mK i 452. 00 1,984 896, 768

m3
1-2 957852 [FETHX]) 72 L FNE10~30KHE /KiR15mk & 2900 2,940 64, 680

m3
1-3 75 T8%Q [ZmuX] FETEONET10RE 7KiE15mF i 1,000. 00 3, 649 3, 649, 000

m3
ELiAET 2,917,102
ELiERY 2,917,102
1-4 BEEEED [FETHX] S8 (RHE) KiFEIbmkim 92.00 18, 031 1, 658, 852

m3
1-5 U5 JREMELER) HE 1.00 1,258, 250 1,258, 250

=®
T#ET 12,914,159
TIEMERRT 9,188, 216
THEMER 9,188, 216
1-6 L EMEHKRD [FETHX]) EHfREEEEL=125. 9Km 566. 00 6.276 3,552 216

m3
1-7 L ERERD [t X] EHEEEAEL=125. 9Km 1,000. 00 5,636 5, 636, 000

m3




BHHEENRE AHGERE RIEBMBEC12m)B M TS

% b I - kT B B = B & %8 W =

BrIRT 2,270, 034
EEEMSEL 2,270, 034
1-8 EE#MELD 566. 00 1,599 905, 034

m3
1-9 BE#RIELO 1, 000. 00 1,365 1, 365, 000

m3
T 1, 455, 909
T 1, 455, 909
1-10 #EHI BXER @Ry b 1,566. 00 319.7 500, 650

m3
1-11 A (L—X) 1, 566. 00 231.8 362, 998

m3
1-12 tH% & 1, 566. 00 378.2 592, 261

m3
BEMBET 21, 685, 800
BET 21, 685, 800
BERE 21, 685, 800
1-13 E##EE - ZA D) 1, 000. 00 7,745 7,745, 000

m3
1-14 BHEE - BAQ) 1, 600. 00 8,713 13, 940, 800

m3
HBRFZEGEL) 10, 777, 731
HBRR 10, 777, 731
HBRRE 10, 777, 731




BHBEERNRE

THEFERBEMB12mREMBETE

% b R - ikt B £ i & & i

FEBXMILERE 8,927, 800
KE BB LR 8,927, 800
1-15 BEHLEBEEE 20m x 20m 1.00 1,224,000 1,224, 000

=
1-16 ;EAEBIE A 20m x 20m 1.00 1,050, 600 1,050, 600

=
1-17 BELERENE 20mx 20m H=16m 1.00 6, 653, 200 6, 653, 200

=
T8 1,729, 931
TRERE 1,729, 931
1-18 REB1RM BRERE & VIERRER 1.00 1,729, 931 1,729, 931

%
HiEEE 120, 000
HifrEE 120, 000
1-19 BifEEE HAREIRAERIISE 1.00 120, 000 120, 000

=
EEIEE 3,914, 252
RIEEH 3,914, 252
TILTFE—LALRE 3,914, 252
TILTFE—LALRE 3,815, 252
Pl 343, 766
2-1 BI=#1m (ICT) 1.00 181,244 181, 244




BHBEERNRE

THEFERBEMB12mREMBETE

£ kg Mg - KTk Bifg = fifi ® 5B

2-2 HMERK () TR 1.00 81, 261 81, 261

=
2-3 HHMERK (2) B TR 1.00 81, 261 81, 261

=
KiEH=E 1,339, 809
2-4 BET X K (ICT) (1) TR 1.00 642, 560 642, 560

=
2-5 BET X K (ICT) (2) BT 1.00 642, 560 642, 560

=
2-6 < ILFE—LBIZECT) (1) TR 0.02 555,128 11,102

km2
2-7T < ILF E—LBIZE(CT) (2) % THF 0.02 2,179, 392 43, 587
km2

BR 2,131,671
2-8 EIBT—4% I (ICT) (1) EETEF 1.00 614, 796 614, 796

=
2-9 BIBT—2BBGRET) (ICT) 2) BT 1.00 1,516, 881 1,516, 881

=
EEZE 99, 000
BR 99, 000
2-10 (%R R 1.00 99, 000 99, 000

=
BRI 267, 285
BEFEHE 267, 285
TILFE—LBIR 267, 285
EEAGE 259, 500




BHHEENRE AHGERE RIEBMBEC12m)B M TS

% b R - ikt Bif H = B f ® & =

BR 259, 500
3-1 3RFTE&ETT— & #ERL (ICT) 1.00 259, 500 259, 500

MR
EERE 7,785
BR 7,785
-2 FHAME 1.00 7,785 7,785

%




B RERER HHEFERMEMBC 12 BRI T

% g & - BARTE Bifg B 2 B ® & wmzE
EEIEH 42,127,509
MEIRR 16,097, 693 + 13,089, 025 29,186, 718
HBRERE (BD) 10,777,731 + 4,901,309 + 418, 653 16,097, 693
HBEREE (BE) 10, 777,731
HBRERE (%) 51,055,309 x 9.60% ((6.18% x1.28 +1.50%) x 1.02) 4,901, 309
BISBERER 51,055,309 x 0.82% 418, 653
RnEER 58,225,202 x 22.48% ((20.42% +1.41%) x 1.03) 13,089, 025
TR 42,127,509 + 29,186,718 71,314,227
—REEEZS 71,314,227 x 17.83% (17.83% x 1.00) — 8,078 12,707, 248
LRitRaE & 71,314,227 x 0.04% 28,525
TSt 71,314,227 + 12,707,248 + 28, 525 84, 050, 000
EENER 3,914,252
ERE 3,014,252 x 73.2% — 9,484 2,855,748
HEEXE 3,914,252 + 2,855,748 6, 770, 000
e T 6, 770, 000
BRI 259,500 + 7,785 267,285
EEAGE 259, 500




B RERER HHEFERMEMBC 12 BRI T

% g B - BIKTiE Bifg B 2 B ® & wmE
EERE 7,785
T DR 259,500 x 53.85% ( 35% = (1 — 35%) ) 139, 740
EHRE 267,285 + 139,740 407,025
—REEES 407,025 x 53.85% (35% + (1 — 35%) ) — 6,207 212,975
ES it 407,025 + 212,975 620, 000
B RHEAE 84,050,000 + 6,770,000 + 620, 000 91, 440, 000
HBETEALE 91,440,000 x 10.00% 9,144, 000
EEIZE 100, 584, 000




Rifiz -/ \v7r—o

T FERBEMBC12mREMBETE

&S 1-1
B V57830 [FEHEX] BELHNEIORE KiEISnEKH 1THHY (1236m 3)
2 o g - BIRTE By = B ff £ W= " =
55 JREMGELTRER) (R/8y FR) #8D 5. 5m3
B 1.00 2,113,079. 00 2,113,079 /4.50H / 10H
Slfn (V'3 T#iEMm (RN FK)) $6D 1200PSE!
B 1.00 327,026. 00 327,026 /2. 00H / 8H
MM 2KDY%
% 0.50 2,440, 105. 00 12, 200
& B YEZEREN : 1,236.00m 3 1,984. 00 2,452, 305
‘S :1-2
B U5 TREQ [FEHEX) BELHNE10~30KE KiFE15nKH 1HHY (834m 3)
2 £ g - BIRTE By = B ff £ W= " =
55 JREMGETRER) (R/8y FR) #6D 5. 5m3
B 1.00 2,113,079. 00 2,113,079 4.50H / 10H
Slfs (¥ 5 T#iEMm (RN FK)) $HD 1200PSE!
B 1.00 327, 026. 00 327,026 /2. 00H / 8H
MM 2{KD%
% 0.50 2,440, 105. 00 12, 200
& B YEZERES : 834.00m 3 2,940. 00 2,452, 305
&S5 :1-3
B U5 TEHEQ [m#thX] BB LHNEIORE KiEISnEKH 1B%Y (622m3)
2 £ g - BIRTE By = B ff £ W= " =
55 JREMGETRER) (R/8y FR) #6D 5. 5m3
B 1.00 1,931, 959. 00 1,931,959 2. 50H / 10H
Slfn (V'3 T#iEMm (RN FK)) $6D 1200PSE!
B 1.00 327, 026. 00 327,026 /2. 00H / 8H
MM 2KDY%
% 0.50 2,258, 985. 00 11, 294
& B YEZERES : 622.00m 3 3, 649. 00 2,270,279




Rifiz -/ \v7r—o

T FERBEMBC12mREMBETE

‘S :1-4
£ BELRREED [FEHEX] H8 (FE) KRI5nRH THHY (136m 3)
2 o g - BIRTE By = B ff %8 W= " =
55 JREMGELTRER) (R/8y FR) #8D 5. 5m3
B 1.00 2,113,079. 00 2,113,079 /4.50H / 10H
Slfn (V'3 T#iEMm (RN FK)) $6D 1200PSE!
B 1.00 327,026. 00 327,026 /2. 00H / 8H
MM 2KDY%
% 0.50 2,440, 105. 00 12, 200
& B YEZERESN : 136.00m 3 18, 031. 00 2,452, 305
&S :1-5
B VS TREMELER) AR 1KY
2 £ g - BIRTE By = B ff %8 W= " =
55 JREMGETRER) (R/8y FR) #6D 5. 5m3
B 1.00 1,065, 410. 00 1,065,410 #tA
Slfs (¥ 5 T#iEMm (RN FK)) $HD 1200PSE!
B 1.00 192, 840. 00 192, 840 #tA
& it 1E%8EH : 1.00= 1, 258, 250. 00 1,258, 250
&S :1-6
&% LEMERD [FEHX] EREEE##L=125. 9Kmn 1THHY (531m3)
2 £ g - BIRTE By = B ff %8 W= " =
tTiEfn (8f) CRIERELIE) $M650m3%E (ZE=)
B 6. 00 280, 500. 00 1,683, 000 22H
i GREERE L 18) $HD 1300PSE!
B 1.50 1,088, 830. 00 1,633,245 20. 00H / 22H
MM 2{KD%
% 0.50 3,316, 245. 00 16, 581
& B YEZERES : 531.00m 3 6, 276. 00 3,332, 826




Rifiz -/ \v7r—o

&5 1-7

& LEMERO [m#thX] EHkEEEEL=125. 9Km

T FERBEMBC12mREMBETE

1B5Y (622m3)

2 L7 g - BIRTE By = B O{f ) W= " =
& (8f) CRIERELIE) £650m3%& (FERA)
B 6.00 280, 500. 00 1,683, 000 22H
iR GREERE T 18) £fiD 1300PSEY
B 1.70 1,061, 954. 00 1,805,321 19.00H / 22H
MM 2H0%
% 0.50 3, 488, 321. 00 17, 441
& B 1E%8ES : 622.00m 3 5, 636. 00 3,505, 762
&5 :1-8
2% - BE#HNKELD 53m3& Y (B31m3)
2 L7 g - BIRTE By = B O{f ) W= " =
HEEHM GEMIERD) £D 70t R
B 1.00 689, 656. 00 689, 656 4.00H / 10H
EiEfth (B FHHLEVNES) #fiD 5tH
B 1.00 155, 395. 00 155, 395 8H
MM 2E0%
% 0.50 845, 051. 00 4,225
& B 1E%8EH : 531.00m 3 1,599. 00 849, 276
&5 .19
&% EE#MELO 622m3& L) (622m 3)
2 L7 g - BIRTE By = B O{f ) W= " =
HEEHM GEMIERD) £D 70t R
B 1.00 689, 656. 00 689, 656 4.00H / 10H
EiEfh (RE FHH LT VNES) #fD 5tH
B 1.00 155, 395. 00 155, 395 8H
MM 2H0%
% 0.50 845, 051. 00 4,225
& B 1E%8ES : 622.00m 3 1, 365. 00 849, 276




Rifiz -/ \v7r—o

SHeFEERIBEMBC12m)BRMETE

= :1-10
&% EHl BXERERTY B Tm334yY
2 o g - BIRTE By = =i} %8 W= " =
HEHl BL&ERRGRT Y B
m3 1.00 319.7 319.7
& b YE%8EH : 1.00m 3 319.7 319.7
&5 1-11
2% : A (L—X) Tm334yY
2 £ g - BIRTE By = B %8 W= " =
A L—X)
m3 1.00 231.8 231.8
& it E%8EH : 1.00m 3 231.8 231.8
&BES:1-12
L TREE Tm334yY
2 7 g - BIRTE By = B %8 W= " =
TREERR
m3 1.00 378.2 378.2
& it E%8EH : 1.00m 3 378.2 378.2
&S 1-13
2 BMEE - BAQN) 1251m3% Y (1251m 3)
2 7 g - BIRTE By = =i} %8 W= " =
55 DB EMREEER) (X/8y FR) #6D 5. 0m3
B 5. 40 1,349, 100. 00 7,285,140/8.00H / 10H
pi:io £HD 1300PSEY
B 5. 40 436, 316. 00 2,356,106 4.00H / 10H
AN 2KDY%
% 0.50 9, 641, 246. 00 48, 206
& b YE%8EH 0 1,251.00m 3 7,745.00 9, 689, 452




Rifiz -/ \v7r—o

T FERBEMBC12mREMBETE

‘S :1-14
B BAMEE - BAQ) 5560m3% Y (5560m 3)
% o g - BIRTE BT = B ff ® W= " =
55 DB EmREEER) (X/8y FR) $7D 5. 0m3
B 27.00 1,349, 100. 00 36,425, 700/8. 00H / 10H
pi:io £HD 1300PSEY
B 27.00 436, 316. 00 11,780,532 4. 00H / 10H
MM 2KDY%
% 0.50 48, 206, 232. 00 241,031
& b 1E%8EH : 5,560.00m 3 8,713.00 48, 447, 263
&S :1-15
B BELERERE  20mx 20m IE-=1)
% £ g - BIRTE BT = B ff ® W= " =
BALERERE BELD L—2sAd (#5120 x 20mER)
= 1.00 1,224, 000. 00 1,224,000
& it 1EZRERN - 1.00K 1,224, 000. 00 1,224,000
&S :1-16
&% HAIEAEE  20mx 20m 12y
% £ g - BIRTE BT = B ff ® W= " =
BAESEE BELD L—2sAd (#5120 x 20mER)
= 1.00 1, 050, 600. 00 1,050, 600
& it 1EZ%RERN - 1.00K 1, 050, 600. 00 1,050, 600
&S 1-17
B EELERIERE  20mx20m  H=16m 15ty
% £ g - BIRTE BT = B ff ® W= " =
B
= 1.00 1,271, 200. 00 1,271, 200
EALGIEIEE R
= 1.00 5, 376, 000. 00 5,376, 000
& it 1E%8EH : 1.00= 6, 653, 200. 00 6, 653, 200




Rifiz -/ \v7r—o

SHeFEERIBEMBC12m)BRMETE

&S :1-18
& REESRR BEMSLUEREERER 1KY
2 o g - BIRTE By = =i} %8 W= " =
TEERmR FRP D 180PS%!
B 15. 00 114, 755. 00 1,721,325 8.00H / 10H
AN 2{KD%
% 0.50 1,721,325.00 8, 606
& b 1EZRER - 1.00 1,729, 931.00 1,729, 931
&= :1-19
2% HitERE HREEIRRARTIIE 1ty
2 £ g - BIRTE By = =i} %8 W= " =
BiTEEE
= 1.00 120, 000. 00 120, 000
& it 1EZRER - 1.00 120, 000. 00 120, 000
&S : 2-1
& Bl (ICT) 1KY
2 £ g - BIRTE By = =i} %8 W= " =
Bl EEFHED
A 1.00 54, 600. 00 54, 600
B EHER
A 1.50 47,100. 00 70, 650
B E A
A 1.00 36, 900. 00 36, 900
RIEBF
A 0.50 34, 600. 00 17, 300
AN 2{KD%
% 1.00 179, 450. 00 1,794
& b 1EZRER - 1.00 181, 244. 00 181, 244




Rifiz -/ \v7r—o

SHeFEERIBEMBC12m)BRMETE

‘S :2-2
2 BMERR() EIR 1KY
2 L7 g - BIRTE By = i ) W= " =
REHENE
A 2.00 25,900. 00 51,800
K>y 2tiE
B 1.00 28, 657.00 28,657/4.70H / 8H
AN 2H0%
% 1.00 80, 457. 00 804
& b 1EZRER : 1.00 81,261.00 81, 261
&S5 :2-3
B BMERR(2) BRI 1KY
2 L7 g - BIRTE By = i ) W= " =
REHENE
A 2.00 25,900. 00 51,800
K5y 2tiE
B 1.00 28, 657.00 28,657/4.70H / 8H
AN 2E0%
% 1.00 80, 457. 00 804
& b 1EZRER - 1.00 81,261.00 81, 261




Rifiz -/ \v7r—o

SHeFEERIBEMBC12m)BRMETE

&S .24
% FR g - BT & B = B ff il wmE ]

RBE Z4 b2 2

=] 1.00 3,637.00 3,637/2.00H / 8H
S EEBED

A 1.00 54, 600. 00 54, 600
pill=g5 11

A 1.50 47,100. 00 70, 650
2 FREh A

A 1.50 36, 900. 00 55, 350
HEBF

A 1.00 34, 600. 00 34, 600
HIE M FRP D 70PS%Y

=] 1.00 51,722.00 51,722 |8H
GNSSRII 4 & DGNSS

=] 1.00 25, 740. 00 25,740
TILFE—LEERFEE 36~455kHz

=] 1.00 339, 900. 00 339, 900
AR E: YOI

% 1.00 636, 199. 00 6, 361
a i EERES 1,00 642, 560. 00 642, 560




Rifiz -/ \v7r—o

SHeFEERIBEMBC12m)BRMETE

&S .25
% FR g - BT & B = B ff il wmE ]

RBE Z4 b2 2

=] 1.00 3,637.00 3,637/2.00H / 8H
S EEBED

A 1.00 54, 600. 00 54, 600
pill=g5 11

A 1.50 47,100. 00 70, 650
2 FREh A

A 1.50 36, 900. 00 55, 350
HEBF

A 1.00 34, 600. 00 34, 600
HIE M FRP D 70PS%Y

=] 1.00 51,722.00 51,722 |8H
GNSSRII 4 & DGNSS

=] 1.00 25, 740. 00 25,740
TILFE—LEERFEE 36~455kHz

=] 1.00 339, 900. 00 339, 900
AR E: YOI

% 1.00 636, 199. 00 6, 361
a i EERES 1,00 642, 560. 00 642, 560




Rifiz -/ \v7r—o

SHeFEERIBEMBC12m)BRMETE

&5 .26
B TILFE—LBBEACT) (1) #RBI 1H4Y (1.06km2)
& 7 L - IRTiE BAf = B @ %5 = & &
REE >4 kN2 2L
B 1.00 3,637.00 3,637/2.00H / 8H
A= FRP D 70PSZ!
B 1.00 51,722.00 51,722 8H
B2 EEBEm
A 1.00 54, 600. 00 54, 600
B S HAm
A 1.00 47,100. 00 47,100
B S AmE
A 1.00 36, 900. 00 36, 900
BIEBF
A 0.50 34, 600. 00 17, 300
GNSSRIfI & DGNSS
B 1.00 25, 740. 00 25, 740
TILF E—LTEBIFEE 36~455kHz
B 1.00 339, 900. 00 339, 900
HME 2EDY
% 2.00 576, 899. 00 11, 537
& b EZBEAN :1.06km 2 555, 128. 00 588, 436

10




Rifiz -/ \v7r—o

SHeFEERIBEMBC12m)BRMETE

&S . 2-1
B TILFE—LABRICT) (2) BIRF 1B%Y (0.27km?2)
2 o g - BIRTE By = =i} %8 W= " =
REE >4 kN2 2L
B 1.00 3,637.00 3,637/2.00H / 8H
A= FRP D 70PSZ!
B 1.00 51,722.00 51,722 8H
Bl EEFHED
A 1.00 54, 600. 00 54, 600
B EHER
A 1.00 47,100. 00 47,100
B E A
A 1.00 36, 900. 00 36, 900
RIEBF
A 0.50 34, 600. 00 17, 300
GNSSRIfI & DGNSS
B 1.00 25, 740. 00 25, 740
TILF E—LTEBIFEE 36~455kHz
B 1.00 339, 900. 00 339, 900
AN 2H0%
% 2.00 576, 899. 00 11, 537
& b E%8EH :0.27Tkm 2 2,179, 392. 00 588, 436
&S :2-8
& BIBFT—42EE(C) (1) EBIRF =)
2 £ g - BIRTE By = =i} %8 W= " =
RIS EFHED
A 3.10 54, 600. 00 169, 260
B EHER
A 4.10 47,100. 00 193, 110
B E A
A 6. 20 36, 900. 00 228, 780
A 2H0%
% 4.00 591, 150. 00 23, 646
& b 1EZRER : 1.00 614, 796. 00 614, 796

11




Rifiz -/ \v7r—o

SHeFEERIBEMBC12m)BRMETE

&S5 :29
B BIRT—48BEB(GEET) (ICT) ) BIM 1KY
2 o g - BIRTE By = =i} %8 " =
RIS EFHEm
A 5.10 54, 600. 00 2178, 460
B EHER
A 14.40 47,100. 00 678, 240
B E A
A 13. 60 36, 900. 00 501, 840
AN 2E0%
% 4.00 1,458, 540. 00 58, 341
& b 1EZREA - 1.00 1,516, 881.00 1,516, 881
&5 :2-10
B EBBERR 1KY
2 £ g - BIRTE By = B %8 " =
EBHERRE
= 1.00 99, 000. 00 99, 000
& it 1EZRER - 1.00 99, 000. 00 99, 000
&S : 31
B IRFTEETT— 2 ERK (ICT) iiEER,
2 £ g - BIRTE By = =i} %8 " =
F1EBAR GEED
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.50 57, 000. 00 85, 500
HER (B)
A 1.50 47, 200. 00 70, 800
HAf (C)
A 1.00 38, 400. 00 38, 400
& it YE%8Eh ;1. 00 ER 259, 500. 00 259, 500

12




Rifiz -/ \v7r—o

SHNeEERFBMBE12m)BEMHETIE
&5 32
& EHARE
& 7 L - IRTiE BAf #H = B @ & # = & &
ERARE
= 1.00 7,785.00 7,785
& it 1E%8EH : 1.00= 7,785.00 7,785

13




